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QUESTION 1
Which of the following statements regarding Veeam Explorer for Sharepoint are true? (select three)

A. The account used for working with Veeam Explorer for SharePoint requires membership in the sysadmin fixed server
role on the staging Microsoft SQL Server.

B. Veeam Explorer for SharePoint is able to restore Microsoft SharePoint items by using PowerShell cmdlets in any
edition.

C. Veeam Explorer for Sharepoint does not support Microsoft SharePoint Server Foundation editions - only Standard
and Enterprise.

D. The staging system must run the same or a later version of Microsoft SQL Server as the server that hosts restored
Microsoft SharePoint content databases

E. Veeam Explorer for Sharepoint is able to Restore to original location in all paid editions.

F. The staging Microsoft SQL Server must run on the machine where Veeam Explorer for SharePoint is installed (that is,
on the machine running Veeam Backup server).

Correct Answer: DEF

QUESTION 2

Which statements are true regarding Backup from Storage Snapshots? (select two)

A. HP StoreServ is only supported from firmware 3.1.2 and up.

B. Only HP StoreVirtual, HP StoreServ and NetApp is currently supported.

C. HP StoreServ requires a Virtual Copy license to enable storage snapshot functionality
D. HP StoreVirtual requires a Virtual Copy license to enable storage snapshot functionality
E. Only HP StorageVirtual and HP StoreServ are currently supported.

Correct Answer: BC

QUESTION 3

Which statements regarding backup jobs are true? (select two)

A. By default, Veeam Backup and Replication performs the backup in the reversed incremental backup mode.
B. It is possible to configure both secondary and tertiary destination for backup jobs.

C. Backup jobs offer three different backup modes.

D. For traditional incremental backups it is required to configure either synthetic full or active full backups.
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E. By default, Veeam Backup and Replication performs the backup in the incremental backup mode.

Correct Answer: BC

QUESTION 4
Which statement regarding various product features is true?

A. Enterprise and Enterprise Plus allows multiple On-Demand Sandboxes to run simultaneously using the same virtual
lab.

B. Veeam Backup and Replication utilises vStorage APIs for Data Protection (VADP) when backing up VMs from
Microsoft Hyper-V and VMware vSphere.

C. Enterprise Plus edition includes Premium Support SLA.
D. Quick Migration is currently available for VMware vSphere only.
E. VM copy is supported by Microsoft Hyper-V and VMware vSphere in all editions.

Correct Answer: B

QUESTION 5

Which statements about Parallel Processing are true? (select two)

A. Parallel Processing is limited to four virtual drives per job.

B. When upgrading Veeam Backup and Replication to v7 from an earlier version Parallel Processing is disabled.
C. Parallel processing is not an option: It is ALWAYS enabled!

D. Each data processing task within a job requires one CPU core.

E. Parallel Processing can be disabled per job.

Correct Answer: CD
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